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1. A die is thrown. describe the following
events:

A: a number less than 7.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pdMclYvkZ3xm

° Watch Video Solution

2. A die is thrown. describe the following
events:

B: a number is greater than 7.

° Watch Video Solution

3. A die is thrown. describe the following
events:

C: a multiple of 3.

| e |


https://dl.doubtnut.com/l/_pdMclYvkZ3xm
https://dl.doubtnut.com/l/_Tv3cBciQwKkf
https://dl.doubtnut.com/l/_Tpw9gugJq5D0

& Watch Video Solution I

4. A die is thrown. describe the following
events:

D: a number less than 4.

° Watch Video Solution

5. A die is thrown. describe the following
events:

E: An even number greater than 4.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_Tpw9gugJq5D0
https://dl.doubtnut.com/l/_ULDGWYmKCbSV
https://dl.doubtnut.com/l/_RQGle8X2kLnL

6. Describe the sample space for the following

event:

A coin is tossed and a die is thrown.

° Watch Video Solution

7. Describe the sample space for the following

event:

A coin is tossed and then a die is rolled.

° Watch Video Solution



https://dl.doubtnut.com/l/_RQGle8X2kLnL
https://dl.doubtnut.com/l/_Vr5Nzxf9aoBJ
https://dl.doubtnut.com/l/_g42YN56b33cE

8. Describe the sample space for the following
event:

2 boys and 2girls are in a Room X and 1 boy
and 3 girls in room Y. Specify the sample space
for the experiment in which a room is selected

and then a person.

o Watch Video Solution

9. Describe the sample space for the following

event:


https://dl.doubtnut.com/l/_g42YN56b33cE
https://dl.doubtnut.com/l/_Iw3PsV5Ri0Xb
https://dl.doubtnut.com/l/_4kzG0HIXN9Oy

One die of red colour, one of white colour and
one of blue colour are placed in a bag. One die
is selected at random and rolled, its colour
and the number on its upper most face is

noted.

o Watch Video Solution

10. Describe the sample space for the
following event:
An experiment consists of tossing a coin and

then throwing it second time if a head occur. If


https://dl.doubtnut.com/l/_4kzG0HIXN9Oy
https://dl.doubtnut.com/l/_6gjxYqidpzMu

a tail occurs on the first toss,then a die is

rolled one.

° Watch Video Solution

11. Describe the sample space for the following
event:

A coin is tossed. If the outcome is a head, a die
is thrown. If the die shows up an even number,

the die is thrown again.

° Watch Video Solution



https://dl.doubtnut.com/l/_6gjxYqidpzMu
https://dl.doubtnut.com/l/_Aw5NANrI67pA
https://dl.doubtnut.com/l/_RiZCz7yZQvkG

12. A die is rolled. Let E be the event "die shows
4" and F be the event "die shows even

number". are E and F mutually exclusive?

° Watch Video Solution

13. Two die are thrown simultaneously. Find

the probability of getting 4 as the product.

o Watch Video Solution



https://dl.doubtnut.com/l/_RiZCz7yZQvkG
https://dl.doubtnut.com/l/_ajK3GffVfUdO

14. A coin is tossed twicewhat is the

probability that atleast one tail occurs?

° Watch Video Solution

15. A die is rolled,find the probability of
following event:

A prime number will appear.

° Watch Video Solution



https://dl.doubtnut.com/l/_ZTJBTXC8iQo4
https://dl.doubtnut.com/l/_xeY7Zbzm0z5R

16. A die is rolled,find the probability of
following event:
A number greater than or equal to 3 will

appear.

o Watch Video Solution

17. A die is rolledfind the probability of
following event:
A number less than or equal to one will

appear.

| & I


https://dl.doubtnut.com/l/_vj86J1LRinxb
https://dl.doubtnut.com/l/_8WpYGD4W3ob5

| ¥ Watch Video Solution |

18. A die is rolled,find the probability of
following event:

A number more than 6 will appear.

o Watch Video Solution

19. A die is rolled,find the probability of
following event:

A number less than 6 will appear.

o Watch Video Solution



https://dl.doubtnut.com/l/_8WpYGD4W3ob5
https://dl.doubtnut.com/l/_ukUj796rOQNw
https://dl.doubtnut.com/l/_aTJYf0lgPblo

20. One card is drawn from a pack of 52 cards,
each of the 52 cards being equally likely to be
drawn. Find the probability that

the card drawn is black.

o Watch Video Solution

21. One card is drawn from a pack of 52 cards,

each of the 52 cards being equally likely to be


https://dl.doubtnut.com/l/_aTJYf0lgPblo
https://dl.doubtnut.com/l/_QDQMWZ3VlXfv
https://dl.doubtnut.com/l/_NdlVfj6osy3A

drawn. Find the probability that

the card drawn is a king.

° Watch Video Solution

22.0ne card is drawn from a pack of 52 cards,
each of the 52 cards being equally likely to be
drawn. Find the probability that

the card drawn is black and a king.

o Watch Video Solution



https://dl.doubtnut.com/l/_NdlVfj6osy3A
https://dl.doubtnut.com/l/_d68YNXGtPisR

23. One card is drawn from a pack of 52 cards,
each of the 52 cards being equally likely to be
drawn. Find the probability that

the card drawn is either black or a king.

° Watch Video Solution

3 1
24.Given P(A) = 5 and P(B) = 3

Find P(A or B), if A and B are mutually exclusive

events.

° Watch Video Solution



https://dl.doubtnut.com/l/_XeE4fTCo0RBZ
https://dl.doubtnut.com/l/_ruJW4d0BHT5Y

25. Two dice are thrown. The events AB and C
are as follows:

A: getting an even number on the first die.

B: getting an odd number on the first die.

C: getting sum of the numbers on the dice

< a.

Describe the events.

o Watch Video Solution



https://dl.doubtnut.com/l/_ruJW4d0BHT5Y
https://dl.doubtnut.com/l/_sfHnDWbeHY35

26. A bag contains 6 red and 12 green balls.
two balls are drawn. What is the probability

that one is red and other is green?

o Watch Video Solution

27.1In class Xl of a school 40% of the students
study Mathematics and 30% study Biology,
10% of the class study both Mathematics and

Biology. If a student is selected at random


https://dl.doubtnut.com/l/_T8u0DG5e6Nbo
https://dl.doubtnut.com/l/_U3iEwaPaldOA

from the class, find the probability that he will

be studying mathematics or Biology.

° Watch Video Solution

28. Two die are rolled, A is the event that the
sum of the numbers shown on the two die is 7
and B is the event that at least one of the die
shows up 2. Are the two events A and B are

Mutually exclusive.

° Watch Video Solution



https://dl.doubtnut.com/l/_U3iEwaPaldOA
https://dl.doubtnut.com/l/_BNuAbbTFhY3x
https://dl.doubtnut.com/l/_1CcvWEyZIE6M

29. Two die are rolled, A is the event that the
sum of the numbers shown on the two die is 7
and B is the event that at least one of the die
shows up 2. Are the two events A and B are

Exhaustive.

° Watch Video Solution

30. A letter of the word ASSASSINATION
are randomly chosen. Find the probability that

letter is a vowel.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_1CcvWEyZIE6M
https://dl.doubtnut.com/l/_Yn8VxLaQwVqL

31. A letter of the word ASSASSINATION
are randomly chosen. Find the probability that

letter is a consonant.

° Watch Video Solution

32. If E and F are events such that

1 1
P(E) = Z,P(F) = E,and
1
p(E and F) = g.ﬁnd P(E or F).

° Watch Video Solution



https://dl.doubtnut.com/l/_Yn8VxLaQwVqL
https://dl.doubtnut.com/l/_qVv4X0KW1VOp
https://dl.doubtnut.com/l/_laQrCgMsxYOn

33. If E and F are events such that

1 1
P(E) = Z, P(F) = E,and
1
p(E and F) = g.ﬁnd P(not E and not F).

° Watch Video Solution

2
34. If 11 is the probability of an event Ajthen

what is the probability of the event 'not A?

o Watch Video Solution



https://dl.doubtnut.com/l/_laQrCgMsxYOn
https://dl.doubtnut.com/l/_zkVlmrjhhlKM
https://dl.doubtnut.com/l/_ufRTY1n0yhWL
https://dl.doubtnut.com/l/_xT3E4Y5Wd2DY

3 1
35. if P(A) = 5 and P(B) = T then find

P(AU B), if A and B are mutually exclusive

events.

o Watch Video Solution

36. A coin is tossed twice. What is the

probability that atleast one tail occurs?

° Watch Video Solution



https://dl.doubtnut.com/l/_xT3E4Y5Wd2DY
https://dl.doubtnut.com/l/_eLWvmxS4LAX2

37. A bag contains 9 balls of which 4 are red, 3
are blue and 2 are yellow. the balls are similar
in shape and size. A ball is drawn at random
from the bag. Calculate the probability that

the ball drawn will be red.

o Watch Video Solution

38. A bag contains 9 balls of which 4 are red, 3
are blue and 2 are yellow. the balls are similar

in shape and size. A ball is drawn at random


https://dl.doubtnut.com/l/_tfSPLqkQxjzP
https://dl.doubtnut.com/l/_FNdkNTzCXatw

from the bag. Calculate the probability that

the ball drawn will be not yellow .

° Watch Video Solution

39. A bag contains 9 balls of which 4 are red, 3
are blue and 2 are yellow. The balls are similar
in shape and size. A ball is drawn at random
from the bag. Calculate the probability that

the ball drawn will be either red or yellow.

° Watch Video Solution



https://dl.doubtnut.com/l/_FNdkNTzCXatw
https://dl.doubtnut.com/l/_y8MHiomP19OJ
https://dl.doubtnut.com/l/_VzFpfF1BLe5o

40. A and B are two events in a random

1

experiment such that P(A) = =

1
3 (B) =

P(AUB) = L Find (40 B)

° Watch Video Solution

41. A and B are two events in a random

experiment such that P(A) =

(AU ) = —= Find P(4)

1
§9

° Watch Video Solution



https://dl.doubtnut.com/l/_VzFpfF1BLe5o
https://dl.doubtnut.com/l/_dRtfLD8WlnAO
https://dl.doubtnut.com/l/_2rfuxbGhadt7

42.The probability of a sure event is...

° Watch Video Solution

43. Two dice are thrown together. What is the
probability that the sum of the numbers on

the two faces is 8?

° Watch Video Solution

44. If A and B are two events such that

P(A) = 0.42,P(B) = 0.48 and


https://dl.doubtnut.com/l/_2rfuxbGhadt7
https://dl.doubtnut.com/l/_z1ugBznpHD2C
https://dl.doubtnut.com/l/_xWdb4OcdTXFh

P(Aﬂ B) — 0.16 then, find: P(not A).

o Watch Video Solution

45, If A and B are two events such that
P(A) = 0.42,P(B) = 0.48 and

P(Aﬂ B) — 0.16 then, find: P(not B).

o Watch Video Solution

46. If A and B are two events such that

P(A) = 0.42,P(B) = 0.48 and


https://dl.doubtnut.com/l/_xWdb4OcdTXFh
https://dl.doubtnut.com/l/_Mr8lgn3bu6qf
https://dl.doubtnut.com/l/_ziZofzA0MHml

P(Aﬂ B) — 0.16 then, find: P(AU B).

° Watch Video Solution

47. Two student A and B appeared in an
examination. The probability that A passes the
examination is 0.25 and that B passes is 0.45.
Also the probability that both will pass is O.1.

Find the probability that: Both will not pass.

° Watch Video Solution



https://dl.doubtnut.com/l/_ziZofzA0MHml
https://dl.doubtnut.com/l/_2UB7qNjkygPb

48. Two student A and B appeared in an
examination. The probability that A passes the
examination is 0.25 and that B passes is 0.45.
Also the probability that both will pass is 0.1.
Find the probability that: Only one of them

will pass.

o Watch Video Solution

49, If M and N are events such that

P(M) = %,P(N) - %,P(Mﬂ N) - %.


https://dl.doubtnut.com/l/_qYzDXZ0UChFa
https://dl.doubtnut.com/l/_hmUV2O0tFAgI

Find P(M or N) .

o Watch Video Solution

50. If M and N are events such that

P = o =Sy - 4

Find P(not M and not N).

o Watch Video Solution

51. A and B are two events associated with a

random experiment such that P(A) = 0.3,


https://dl.doubtnut.com/l/_hmUV2O0tFAgI
https://dl.doubtnut.com/l/_s4YhJkgvrjIm
https://dl.doubtnut.com/l/_Ih5y195I3kBo

P(B) = 0.4 and P(AUB) — 0.5.Find
P(AﬂB).

° Watch Video Solution

52. A and B are two events associated with a

random experiment such that P(A) = 0.3,

P(B) = 0.4 and P(AUB) — 0.5. Find
P(A'UB').

o Watch Video Solution



https://dl.doubtnut.com/l/_Ih5y195I3kBo
https://dl.doubtnut.com/l/_bz1CjUsbI2YO

53. A coin is tossed twice. What is the

probability that at least one tail occurs?

° Watch Video Solution

54. If A and B are two events in a random

experiment, then

P(A) + P(B) — P(Aﬂ B)= ......

° Watch Video Solution



https://dl.doubtnut.com/l/_RpSY1Xyhxwsp
https://dl.doubtnut.com/l/_MChLc8sUVNKa

55. Given P(A) =0.5, P(B) =0.6 and

P(AﬂB):O.g. Find P(AUB) and

pP(A’)

o Watch Video Solution

56. Two dice are thrown simultaneously. Find

the probability of getting a doublet.

° Watch Video Solution



https://dl.doubtnut.com/l/_CbC6wz7JPYcB
https://dl.doubtnut.com/l/_QEYN473bIuHy

57. The probability that Ramu pass the
examination in both mathematics and Physics
is 0.5, the probability of passing neither
Mathematics nor Physics is 0.1,the probability
of passing Mathematics is 0.75 What is the

probability of passing Mathematics or Physics?

o Watch Video Solution

58. The probability that Ramu pass the

examination in both mathematics and Physics


https://dl.doubtnut.com/l/_c2JomhpE0tR6
https://dl.doubtnut.com/l/_szLypRtaglcz

is 0.5, the probability of passing neither
Mathematics nor Physics is 0.1,the probability
of passing Mathematics is 0.75 What s

probability of passing Physics?

° Watch Video Solution

50. If A and B are two events such that

P(A) = %,,P(B) ~ % P(ANB) = %

then find, P(A")

° Watch Video Solution



https://dl.doubtnut.com/l/_szLypRtaglcz
https://dl.doubtnut.com/l/_OQ2mTRYID4CM
https://dl.doubtnut.com/l/_v7BXELsRv0iN

60. If A and B are two events such that

P(A) = %,,P(B) - % P(AﬂB) - %

then find, P(A U B).

° Watch Video Solution

61. If A and B are two events such that

P(4) = %,,P(B) = % P(ANB) = %

then find, P(A ’ ﬂ B)

° Watch Video Solution



https://dl.doubtnut.com/l/_v7BXELsRv0iN
https://dl.doubtnut.com/l/_Fk6Nt8A8AHJv
https://dl.doubtnut.com/l/_byhF25iUDlOL

62. The number of outcomes in the sample
space of the random experiment of throwing

two dice is...a)6"3

A 63

B.6

C. 6>

D. 12

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_byhF25iUDlOL
https://dl.doubtnut.com/l/_x4R4c1QDAbdM

63. Two students, Anil and Ashima appeared in
an examination. The probability that Anil will
qualify the examination is 0.05 and that
Ashima will qualify the examination is 0.10. The
probability that both will qualify the
examination is 0.02. Find the probability that

both will not qualify the examination.

o Watch Video Solution

64. If A and B are mutually exclusive and

exhaustive events then


https://dl.doubtnut.com/l/_x4R4c1QDAbdM
https://dl.doubtnut.com/l/_2i0UMNus0gEt

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_2i0UMNus0gEt

65. Two student A and B appeared in an
examination. The probability that A will qualify
the examination is 0.25 and B will qualify is
0.45 and both will qualify the examination is
0.1. Find the probability that:

Both A and B will not qualify the examination.

o Watch Video Solution

66. Two student A and B appeared in an

examination. The probability that A will qualify


https://dl.doubtnut.com/l/_Dg7AzhaqQ3Gz
https://dl.doubtnut.com/l/_Pg0PVIlQJ1oB

the examination is 0.25 and B will qualify is
0.45 and both will qualify the examination is
0.1. Find the probability that:

One of them will qualify the examination.

o Watch Video Solution

67.In a random experiment, 6 coins are tossed
simultaneously. Write the number of sample

points in the sample space.A)2zB)24 C)26D)28

A. 2


https://dl.doubtnut.com/l/_Pg0PVIlQJ1oB
https://dl.doubtnut.com/l/_HwS6gKDKxkiQ

B. 24

D. 28

Answer: C

o Watch Video Solution

68. Given that P(A) = 0.5, P(B) = 0.6,
P(AﬂB) = 0.3 Find P(A'),P(AUB),
P(A'ﬂB') and P(A'UB').

I o Watch Video Solution


https://dl.doubtnut.com/l/_HwS6gKDKxkiQ
https://dl.doubtnut.com/l/_0Io553VQ7lkz

69.1f P(A’) = 0.8, write the value of P(A).

o Watch Video Solution

70. In a class of 60 students, 30 selected for
NCC, 32 selected for NSS and 24 selected for
both NCC and NSS . If one of these students is
selected at random,find the probability that:

the students selected for NCC or NSS.

o Watch Video Solution



https://dl.doubtnut.com/l/_0Io553VQ7lkz
https://dl.doubtnut.com/l/_mJbnBYW4kw6o
https://dl.doubtnut.com/l/_pyJpcJrXnmcI

71. In a class of 60 students, 30 selected for
NCC, 32 selected for NSS and 24 selected for
both NCC and NSS. If one of these students is
selected at random(find the probability
that:the students has selected neither NCC

nor NSS.

o Watch Video Solution

72. Two dice are thrown. Let A be an event to

get an even number on first die and B be an


https://dl.doubtnut.com/l/_pyJpcJrXnmcI
https://dl.doubtnut.com/l/_27AlsOw7A6KO
https://dl.doubtnut.com/l/_TWAuhXnwDr2v

event to get sum of the numbers obtained on

two dice is 8.Write the sample space.

° Watch Video Solution

73. Two dice are thrown. Let A be an event to
get an even number on first die and B be an
event to get sum of the numbers obtained on
two dice is 8.Write the outcomes favorable to

the event A, the event B.

° Watch Video Solution



https://dl.doubtnut.com/l/_TWAuhXnwDr2v
https://dl.doubtnut.com/l/_XvZaDIBl4ppf
https://dl.doubtnut.com/l/_5ZRTUlaEoscx

74. Two dice are thrown. Let A be an event to
get an even number on first die and B be an
event to get sum of the numbers obtained on

two dice is 8.Find P(A or B)

° Watch Video Solution

75. A box contains 6 red, 5 blue and 4 green
balls. 3 balls are drawn from the box. Find the

probability that All are blue.

° Watch Video Solution



https://dl.doubtnut.com/l/_5ZRTUlaEoscx
https://dl.doubtnut.com/l/_OhqeU8mvO2Be

76. A box contains 6 red, 5 blue and 4 green
balls. 3 balls are drawn from the box. Find the

probability that All balls are either red or blue.

o Watch Video Solution

77. A box contains 6 red, 5 blue and 4 green
balls. 3 balls are drawn from the box. Find the

probability that Atleast one green ball.

o Watch Video Solution



https://dl.doubtnut.com/l/_a0vorSN6chPv
https://dl.doubtnut.com/l/_J4eHCIv8bodn
https://dl.doubtnut.com/l/_eFiyV0vF9Nni

78. A coin is tossed repeatedly until a tail
comes up. What is the sample space for this

random experiment?

o Watch Video Solution

79. Three coins are tossed once. Find the

probability of getting no head.

° Watch Video Solution



https://dl.doubtnut.com/l/_eFiyV0vF9Nni
https://dl.doubtnut.com/l/_AStMyqgDUiLH

80. Three coins are tossed once. Find the

probability of getting exactly one head.

° Watch Video Solution

81. Three coins are tossed once. Find the

probability of getting atleast one head.

o Watch Video Solution



https://dl.doubtnut.com/l/_IKfpBEJkl0KF
https://dl.doubtnut.com/l/_vCv45u7o64wG

82. Three coins are tossed once. Find the

probability of getting atleast two heads.

° Watch Video Solution

8. If E and F are two events such that

13 8 )
P(E ) —1—5,P(F ) = 1—5 and P(Eand F)—
1

= find P(E), P(F).

° Watch Video Solution



https://dl.doubtnut.com/l/_24r11gO8jOzh
https://dl.doubtnut.com/l/_QAmZVfVw6NvM

84. If E and F are two events such that

13 8

P(E ) = 1—5,P(F ) = 1—5 and P(E and F)—
1

—, find P(E or F).

15

o Watch Video Solution

85. If E and F are two events such that

, 13 ) 8
P(E ) = 1—5,P(F ) = 1—5 and P(E and F)—
1
—, find P(not E and not F).

15

o Watch Video Solution



https://dl.doubtnut.com/l/_Rm7KbNw5EX9Y
https://dl.doubtnut.com/l/_Mjo5osaVRBI6
https://dl.doubtnut.com/l/_IHOSKYlWsw99

86. John and Mary appeared in an examination.
The probability that John will qualify the
examination is 0.05 and that Mary will qualify
the examination is 0.10. The probability that
both will qualify is 0.02. Find the probability
that

John or Mary qualifies the examination.

o Watch Video Solution

87.John and Mary appeared in an examination.

The probability that John will qualify the


https://dl.doubtnut.com/l/_IHOSKYlWsw99
https://dl.doubtnut.com/l/_olkOdoUcdQji

examination is 0.05 and that Mary will qualify
the examination is 0.10. The probability that
both will qualify is 0.02. Find the probability
that

Both John and Mary will not qualify the

examination.

o Watch Video Solution

88. John and Mary appeared in an examination.
The probability that John will qualify the

examination is 0.05 and that Mary will qualify


https://dl.doubtnut.com/l/_olkOdoUcdQji
https://dl.doubtnut.com/l/_hhM5W8TaaDQi

the examination is 0.10. The probability that
both will qualify is 0.02. Find the probability
that

Atleast one of them will not qualify the

examination.

o Watch Video Solution

89. In a class of 60 students, 30 opted for NCC,
32 opted for NSS and 24 opted for both NCC
and NSS. If one of these students is selected at

random, find:


https://dl.doubtnut.com/l/_hhM5W8TaaDQi
https://dl.doubtnut.com/l/_zFENnqbZEqeK

The probability that the student opted for

NCC and NSS.

° Watch Video Solution

90. In a class of 60 students, 30 opted for NCC,
32 opted for NSS and 24 opted for both NCC
and NSS. If one of these students is selected at
random, find:

the probability that the student has opted for

exactly one of NCC or NSS.

° Watch Video Solution



https://dl.doubtnut.com/l/_zFENnqbZEqeK
https://dl.doubtnut.com/l/_coBSF4w2rh8S

91. A coin is tossed repeatedly until a head

comes up. Write the sample space.

° Watch Video Solution

92. If A and B are two events in a random

experiment, then

P(AUB) — P(A) + P(B) — ...

° Watch Video Solution



https://dl.doubtnut.com/l/_coBSF4w2rh8S
https://dl.doubtnut.com/l/_u6WZ2IWpZd9M
https://dl.doubtnut.com/l/_YzcmOkpKmpfT
https://dl.doubtnut.com/l/_FSj8q4HLSNv0

93, Let P(A) = Z,P(B) = =

P(aN5) - 5

Find P(not A and not B).

° Watch Video Solution

94. A bag contains 9 discs of which 4 are red, 3
are blue and 2 are yellow. A disc is drawn at
random from the bag. Calculate the

probability that it will be red.

o Watch Video Solution



https://dl.doubtnut.com/l/_FSj8q4HLSNv0
https://dl.doubtnut.com/l/_cSBLza3dI1rM
https://dl.doubtnut.com/l/_1HTs0UtOrQGO

95. A bag contains 9 discs of which 4 are red, 3
are blue and 2 are yellow. A disc is drawn at
random from the bag. Calculate the

probability that it will be Not yellow.

° Watch Video Solution



https://dl.doubtnut.com/l/_1HTs0UtOrQGO

96. Math the following:

B | = )

a) | P(A)= %then P(not A) = .....

D) | 1f P(A) = % P(B)=% and |0

P(AUB) = the
12
P(ANB) =

c) | If S is the sample space
then P(8)=.............

Ll S OV

o Watch Video Solution

97. Two dice are thrown simultaneously. Find

the probability of getting a doublet.


https://dl.doubtnut.com/l/_SPAYXMbYbmvB
https://dl.doubtnut.com/l/_57CF7BQlfQYv

° Watch Video Solution

98. Two dice are thrown at random. Find the
probability of getting sum of the numbers on

the dice 8.

° Watch Video Solution



https://dl.doubtnut.com/l/_57CF7BQlfQYv
https://dl.doubtnut.com/l/_rA2gq8pH9DQi

